5/10/2019 (\partial)/(\partial x)(x"3 e-y}+ y*3 secsqrt(x)) - Partial Derivative Calculator - Symbolab
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Solution

%(xgeiy +3sec(vx) ) 30 V% ygsec(\/;/)%an(x/? )

Steps
%(xse_y +y3sec(va )

Treat y as a constant

Apply the Sum/Difference Rule: (f+g) ="+ g’

() 2l 7))
%(x?’e_)/) Y Hide Steps @
aa—x(x?)e_y )

Take the constantout: (a-f)' =a-f’

_,vo (,3

=e a—x(x )

Apply the Power Rule: %(xa) —q 1

SYEE 3x3_1

Simplify

—3e_yx2

Hide Steps &@

9 (3 _ Vsec(v/x tan(V/x )
Tl secl V) ) = e L
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Take the constantout: (a-f)' =a-f’

:y383_(sec(\/;))

X

Apply the chain rule: ﬁi@ _ df . du

dx du dx

Hide Steps &@

Apply the common derivative: % (sec(u)) = sec(u)tan(u)

= sec(u)tan(u)
P 1 Hide Steps @
(V) -

1
Apply radicalrule: va =a?

2 (x2)

11 1 Hide Steps @
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Since the denominators are equal, combine the fractions: £ + b_axh
C C C
_ —1-2+1
2

~1-241= -1 Hide Steps g
—-1-24+1

Multiply the numbers: 1 - 2=2
=-2+1

Add/Subtract the numbers: —2+1= —1
= -1

_ -1
2

Apply the fraction rule: %a —

1
2

Apply exponentrule: a ==

Sl

1

X 2= 1
Vx

1.1
2 Vx
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i ionsg: 4.c_4a-c
Multiply fractions: A Al
_1-1

2V/x

Multiply the numbers: 1 - 1 =1

1
2v/x

1

2/x

1

:y3sec(u)tan(u)2\/;

Substitute back u = \/¥

3 1
=y seC(\/?)tan(\/Y)N;

Hide Steps @
Simplifyy3sec(\/;)tan(\/;)2\};; YBSCC(VZ;\/);H(\/;) p

3 1
y seC(\/?)tan(\/;)N;

Multiply fractions: a- b_
C

_ 1 ygsec(\/?)tan(\/;)
2V/x

Multiply: 1 - y3 :y3

_ Vsee(v/x )tan(Vx )
2/x

_ Psee(va )tan(vx )
2v/x

3.2 ysee(v/x )tan(Vx )
2Vx
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